FgArea: [0 ]
NC11 P4
2025-05-09 (Day 35)




1000

800

600

400

200

800 -

700

600

500

400

300

200

100

0.8

A
I

0 5 10 15 20 25 30 35
d
| |
-—@&— 1 VN H
N
el
%M \ :
0 5 10 15 20 25 30 35
d
| |
—&— 1 0IR

1000

800

600 -

400

200

800

700

600

500

400

300

200

100

0.8

0.6

0.4

0.2

0.0

0 5 10 15 20 25 30 35
d
__—I.— 2\I/N ®
i
A o
o?
¥ ®
Q\
?
0 5 10 15 20 25 30 35
d
—.I— 20IIR




Warning: col ['FR'] missing

0.2 0.4 0.6

0.8

1.

Warning: col ['setVIl'] missing

0.0

0.2 0.4 0.6

1 (fgArea = NA)

0.8

3500

3000 -

2500

2000 -

1500

1000 ~

500

—8— ECI*10%
ECO

M

25

30

35

0

Warning: col ['FR'] missing

0.2 0.4 0.6 0.8

1.

Warning: col ['setVIl'] missing

0.0

0.2 0.4 0.6 0.8

2 (fgArea = NA)

3500 -

3000 -

2500 -

2000 -

1500

1000

500 ~

—@— ECI*10%

ECO

fx\
Al

30

35

0



1 1

—@— PHI*10%
7.5 14+ —®— PHO |
7.0 H
6.5 - | |
6.0 - -
5.5

0 5 10 15 20 25 30 35

1 1

—@— PHI*10%
7.5 4 —®— PHO
7.0 -
6.5 - | |
6.0 - -
5.5

0 5 10 15 20 25 30 35
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

300 : .
M : —@— setVI_ETcl
250 1 —0— setVI| _fgRec |
\ : —0—  setVI_WN
200 : —@— slSetVI i
I

150 \

100

50




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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